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QUESTION 1

A Ledger is a financial reporting entity. What is new in Oracle E-Business Suite Release 12 that facilitates generation of
accounting entries? 

A. Ledger 

B. Chart of Accounts 

C. Multi-Org Structure 

D. Accounting Convention 

E. Financial Accounting Calendar 

Correct Answer: D 

 

QUESTION 2

Your client wants approvals for Move Orders to occur after 30 days. Based on the Move Order approval workflow, how
would you enter the values for Move Order Timeout Period and Move Order Timeout Action? 

A. Timeout Period = 30, Action = Reject Automatically 

B. Timeout Period = 15, Action = Reject Automatically 

C. Timeout Period = 0, Action = Approve Automatically 

D. Timeout Period = 30, Action = Approve Automatically 

E. Timeout Period = 10, Action = Approve Automatically 

F. Timeout Period = 15, Action = Approve Automatically 

Correct Answer: F 

 

QUESTION 3

Two Customer Service Representatives each book a sales order for an item that is revision and lot controlled. There are
no other open, active sales orders for this item. Each Customer Service Representative pick releases their order to the
same warehouse independently. The Pick Release Rule used by both includes Auto Allocation. On the resulting Move
Orders, Inventory has allocated all the requested quantity for one of the sales orders, but only half the requested
quantity on the second sales order was available to be allocated. Using the Transact Move Orders form, which action
sequence can the warehouse person use to reduce the allocation on the first Move Order so that both customer orders
can be equally satisfied? 

A. 1. View/Update Allocations; 

2. Change the allocated Revision and Quantity values, as appropriate. 

B. 1. View/Update Allocations; 
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2. 

Change the allocated Revision and Quantity values; 

3. 

Change the allocated Lot and Quantity values, as appropriate. 

C. 1. View/Update Allocations; 

2. 

Change the allocated Lot and Quantity values, as appropriate; 

3. 

Select the appropriate Missing Quantity Action. 

D. 1. View/Update Allocations; 

2. 

Change the allocated Revision and Quantity values, as appropriate; 

3. 

Change the Destination Subinventory. 

Correct Answer: C 

 

 

QUESTION 4

Identify three modules that can be secured using the Operating Unit in Oracle E-Business Suite Release 

12. (Choose three) 

A. Oracle Assets 

B. Oracle Payables 

C. Oracle Receivable 

D. Oracle General Ledger 

E. Oracle Cash Management 

Correct Answer: BCE 

 

QUESTION 5

You need to set up a Material Review Board (MRB) subinventory for storing defective goods that are awaiting
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disposition. The management team does not want the material in the MRB subinventory to be considered by the
Material Requirements Plan (MRP). Which is the key flag in the setup that instructs MRP not to account for the material
in the MRB subinventory? 

A. Nettable flag deselected 

B. Planning flag deselected 

C. Quantity Tracked flag selected 

D. Allow Reservation flag deselected 

E. Asset Subinventory flag deselected 

Correct Answer: A 
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